Site: TVG201 Org

. Zxy
e Measured —— Predicted ZyX
E
=
S 2.004
X%
(%)
[¢)
o
-
o
<
o
—
8
3 1.004
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150
120
= 90
[} 60 - ] s
2 30 e
% 04 ®
£ -30-
-60
-90
-120 - L
-1507 Wﬁ_
-180 T T T T T ?
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
= Overall RMS (Z+Tz)=1.41
§ Total ZRMS =1.12
2
s Zxy RMS =1.38
3 Zyx RMS =0.93

LOG10 [Periods (s)]

Tz RMS Total =2.75
Tzx RMS = 3.07
Tzy RMS = 2.38

0.50 e Measured —— Predicted Re Im
X 0.00- i——’___
-0.50 | | ‘ : ‘ !
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
0.50
> 0.00-
-0.50 | | ‘ : ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00 1.00




Site: TVG202_Org

. ZXy
e Measured —— Predicted ZyX
_ 3.00-
E
=
<
C
K%
@ 2.00-
X
S
o
<
(@)
—
S 1.00-
-
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
a 604 _/_!_—r_‘__‘l—-l— - J—,_N
[ 307 - o -
£ -30
-604
-904
120 _—__l__‘_'__l-—t —® l—l—;—t_,_ﬁ
-150 s * "
-180 | ‘ ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=1.30
§ Total Z RMS = 1.33
Q
s Zxy RMS =1.89
3 Zyx RMS =1.30

0.50 e Measured —— Predicted Re Im
0.00-
t iy :
-0.50 ‘ | | : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
0.00 N
-0.50 ‘ ‘ : '
-4.00 -3.00 -2.00 -1.00 0.00

LOG10 [Periods (s)]

Tz RMS Total =1.10
Tzx RMS =1.35
Tzy RMS =0.78



Site: TVG203a_0Org

. ZXy
e Measured —— Predicted
3.004
E
£
<
=)
%)
(%)
[¢)
ha
2 2.00-
<
(@)
—
)
@)
-
1.00-
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60 ’_’_‘—-—-—‘—
Q 307 . ® pe [ ] -\
()]
g
£ -30
-604
-904
-120 ——— v 3 L
-150 es* " ¢ \
-180 ‘ ‘ ‘ ‘ ‘. l_!_l_'i
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
s Overall RMS (Z+Tz)=1.43
§ Total Z RMS =1.32
2
= Zxy RMS =1.61
3 . Zyx RMS =151

LOG10 [Periods (s)]

Tz RMS Total =2.06
Tzx RMS = 2.69
Tzy RMS =1.12

0.50 e Measured —— Predicted Re Im
x 0.00- E\
-0.50 | | ‘ : ‘ !
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
0.50
> 0.00- Qjm
'050 T T T T T T
-4.00 -3.00 -2.00 -1.00 0.00 1.00




Site: TVG204_Org

. ZXy
e Measured —— Predicted ZyX
E
£
C ’
%)
(%)
[¢)
o
5 2.00-
o
<
(@)
—
)
@)
-
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
) 60 -
— 50— 35— 5 5 3 o
2 30 *
£ -30
-604
-904
-120- f—l—l—n—n—:—l——f_‘_*_'—’__‘_‘—‘_‘“
-150
-180 : ‘ ! ‘ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
s Overall RMS (Z+Tz)=1.20
§ Total ZRMS =0.73
2
= Zxy RMS =0.61
3 Zyx RMS =0.51
o

0.50 e Measured —— Predicted Re Im

o ——

-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00

LOG10 [Periods (s)]

0.50

0.004 i

-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00

LOG10 [Periods (s)]

Tz RMS Total =2.20
Tzx RMS = 2.62
Tzy RMS =1.69



Site: TVG205_Org

| Zxy
e Measured —— Predicted ZyX
€
S
f:,/ 2.00
K0
[%)]
(O]
x
-
Q.
<
o
0,
e L3R}
1.00
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
o} 60 -
2 30 e R Tyt
£ -30
-60
-90
-120 - e
150 ‘—f_i_h—l—;—t—l———n—l—n——t—t\i
-180 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
s Overall RMS (Z+Tz)=0.74
§ Total Z RMS =0.75
2
s Zxy RMS =0.78
& , Zyx RMS =0.81
o

0.50 e Measured —— Predicted Re Im
X 0.00-
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
T
-0.50 |

-4.00

-3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]

Tz RMS Total =0.69
Tzx RMS = 0.48
Tzy RMS =0.84




LOG10 [App. Resis. (ohm.m)]

Phase (Deg.)

Site: TVG206_Org

. ZXy
e Measured —— Predicted ZyX
[
3.00
. [
[
[]
2.00- ® 3 3 5
¢ ¢
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
90
60 T s T T ¥ T T T T TTssssa, . o
30 *
04
-304
-604
-904
-120- “——‘—l—!—!_.‘_,_;_t_t_-t——l—l—x—t—ﬁ_'J
-150-
-180 | ‘ ‘ ‘ |
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=0.81
§ Total Z RMS = 0.82
Q
s Zxy RMS =1.03
3 . Zyx RMS =1.03

LOG10 [Periods (s)]

Tz RMS Total =0.80
Tzx RMS = 0.99
Tzy RMS = 0.55

0.50 e Measured —— Predicted Re Im
X 0.00-
-0.50 ‘ | ‘ : E ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00-
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00




Site: TVG207_Org

| Zxy
e Measured —— Predicted ZyX
€
£
<
e
X%
(%]
&
S 2.00] t (3 ¢
<
o
i
O
o
-
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
g 60 = 5 oo s o 8
= 304 s 8 ®
£ -30-
-604
-904
-120- ¥ & & & § v v 005 35 35 5 35 3 5 o 3
-150-
-180 | ‘ ‘ | ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=0.94
§ Total Z RMS = 0.90
2
g Zxy RMS = 0.64
& , Zyx RMS =0.71
[ ]

LOG10 [Periods (s)]

Tz RMS Total =1.05
Tzx RMS =1.35
Tzy RMS = 0.60

0.50 e Measured —— Predicted Re Im
X 0.00-
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00-
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00




Site: TVG208a

. ZXy
e Measured —— Predicted ZyX
€
£
<
=)
§ 2.00
ha
: :
Q.
<
(@)
3 )
O
-
1.00- \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
a 60 W
2 30 *
£ -30
-60
-90
-120 s : .
-150
-180 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)= 0.53
§ Total Z RMS = 0.50
2
s Zxy RMS =0.64
3 Zyx RMS =0.48

LOG10 [Periods (s)]

Tz RMS Total =0.62
Tzx RMS = 0.69
Tzy RMS = 0.55

0.50 e Measured —— Predicted Re Im
X 0.00- E\E\f
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00-
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00




Site: TVG209_ Org

ZXy
e Measured —— Predicted ZyX 0.50 e Measured —— Predicted Re Im
T 2.00-
£
S
o )
g : =
& ; X 0.00- /L
S
2 ¢
(@)
8 1.00
o T
-
-0.50 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)] 0.50
180
150
120
—~ 90
o 604 E
2 30 .,.—fr—rtm_;_h > 0.00- %
3 0-
£ 30 ?¢
-60
-90
-120+ s o § T T o3 43 5 5 53 4,
-150
-180 T T T T T -0.50 T T T T T
-4.00 -3.00 -2.00 -1.00 0.00 -4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)] LOG10 [Periods (s)]
s Overall RMS (Z+Tz)=0.61
= Total Z RMS = 0.61 Tz RMS Total =0.61
i , Tzx RMS = 0.67
= ; Zxy RMS =0.65 Tzy RMS = 0.54
3 Zyx RMS =0.50




Site: TVG210 Org

ZXy
e Measured —— Predicted ZyX
3.00
E
£
S
[%2)
2 3
o
S 2.00- ¢
<
=
)
@)
-
1.00- T T T T T
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
) 60
2 30 ryrv s su»s ' s s Lo s
£ -30
-604
-904
-120- l_l_'_l_l—’—-_'—"—w_‘_‘
-150-
-180 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)= 0.60
§ Total Z RMS = 0.48
(O] .
g S Zxy RMS =0.46
3 Zyx RMS =0.44

0.50 e Measured —— Predicted Re Im
X 0.00- ¢ s

-0.50 ‘ | : :

-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]

0.50
> 0.00-

-0.50 |

-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]

Tz RMS Total =0.83
Tzx RMS = 0.95
Tzy RMS =0.70




Site: TVG211 Org

ZXy
e Measured —— Predicted ZyX 0.50 e Measured —— Predicted Re Im
€
£
<
=)
;
g t 4 {
<
(@)
—
)
3 EEERRE:
-0.50 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
1.00_ LOG10 [Periods (s)]
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)] 0.50
180
150
120
= 90
A 60 T s s Tt T T " 3 4 s s s s e
= 304 L > 0.004
% o] » ~ E/%E
£ -30
-60
-90
-120 -
150 W
-180 \ \ \ \ \ -0.50 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00 -4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)] LOG10 [Periods (s)]
= Overall RMS (Z+Tz)=1.14
= Total ZRMS =1.10 Tz RMS Total =1.27
i L Tzx RMS = 1.64
= e Zxy RMS =0.74 Tzy RMS =0.72
3 Zyx RMS =0.91




Site: TVG212_Org

. ZXy
e Measured —— Predicted ZyX
3.00
€
=
<
C
; ;
[¢)
X
=
o
<
g 2.00
S t
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60 —
= 30+ - - : o
()]
g
£ -30
-604
-904
-120- o & » & o 4
-150- € T . ——
-180 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
s . Overall RMS (Z+Tz)=0.77
§ o Total Z RMS = 0.84
2 :
s . Zxy RMS =0.87
3 Zyx RMS =0.92

0.50 e Measured —— Predicted Re Im
-0.50 | | ‘ | |
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
-0.50 | | ‘ | |
-4.00 -3.00 -2.00 -1.00 0.00

LOG10 [Periods (s)]

Tz RMS Total =0.44
Tzx RMS =0.32
Tzy RMS = 0.53



Site: TVG213_Org

. Zxy
e Measured —— Predicted ZyX
3.00-
E
£
s ]
X%
3
nd E I
g 2.00- !
<
o
—
©)
@)
-
1007 I I I I I
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
) 604 +‘+‘—‘—.’_‘_‘
e 30 Hﬁ—m—:‘;‘— S
£ -30-
-604
-904
-120- T T T e — %" T e g . o
-150-
-180 | ‘ ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
= Overall RMS (Z+Tz)= 0.59
= Total Z RMS = 0.55
s - Zxy RMS =0.79
3 Zyx RMS =0.61

0.50 e Measured — Predicted Re Im
0.00- ETE I E i { E E
— T
s 02 i ’
-0.50 | | | ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
0.00- ?
-0.50 | | | ‘
-4.00 -3.00 -2.00 -1.00 0.00

LOG10 [Periods (s)]

Tz RMS Total =0.69
Tzx RMS =0.76
Tzy RMS =0.61



Site: TVG214 Org

e Measured

— Predicted

ZyX

ZXy

3.00
E
= [)
<
=)
%)
8 2.00-
@
o
Q.
<
(@)
—
)
@)
-
1.00-
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120+
= 90
o} 60 . & 8
2 30
£ -30
-604
-904
-120- &
-150 1 .
-180 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=1.18
§ Total ZRMS =1.18
2
s Zxy RMS =1.76
3 Zyx RMS =1.28

LOG10 [Periods (s)]

Tz RMS Total = 3.67
Tzx RMS =4.30
Tzy RMS =2.90

0.50 e Measured —— Predicted Re Im
/
X 0.00-
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00- I
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00




Site: TVG215

e Measured —— Predicted Zyx

ZXy

2.00

LOG10 [App. Resis. (ohm.m)]

1.00-

-4.00

-3.00 -2.00 -1.00 0.00

LOG10 [Periods (s)]

180
150
120

90

Phase (Deg.)

-304
-604
-904

60- il
30- B, i - DR

-120- y‘__‘_-_'_‘_‘___'_.!—t—l—l—l——l_;_._!_
F

-150
-180

-4.00

-3.00 -2.00 -1.00 0.00

Overview Map

LOG10 [Periods (s)]

Overall RMS (Z+Tz)= 0.65
Total Z RMS = 0.65

Zxy RMS =0.48
Zyx RMS =0.47

LOG10 [Periods (s)]

Tz RMS Total =2.61
Tzx RMS =1.29
Tzy RMS = 3.45

0.50 e Measured —— Predicted Re Im
X 0.00- —
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00- I
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00




LOG10 [App. Resis. (ohm.m)]

Phase (Deg.)

Site: TVG216a_Org

e Measured —— Predicted ZyX
2.00-
1.00-
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
90
60 .
307 /'_TW—‘N_'_‘TI-"
04
_30,
_60,
_90,
-120- s
-150 b e . e SR A e
-180 | ‘ ! : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
= . Overall RMS (Z+Tz)=0.88
§ '. Total Z RMS = 0.78
Q
= Zxy RMS =1.04
3 Zyx RMS =0.77

0.50 e Measured —— Predicted Re Im
0.00 %} E ﬁM
-0.50 | | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
i - -
e
0.004 =
/
-0.50 | | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00

LOG10 [Periods (s)]

Tz RMS Total =1.24
Tzx RMS = 0.46
Tzy RMS =1.69




Site: TVG217

. Zxy
e Measured —— Predicted ZyX
€ 2.00
£
S
X% E
(%)
[¢)
o
S
o
<
o
—
8
3 1.004
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
180
150
120
= 90
o) 60 - ————9 o &
2 30 LI
£ -30-
-604
-904
-120-
o« S———g & o —
-150-
-180 | ‘ ‘ ‘
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
o . Overall RMS (Z+Tz)=0.78
§ - Total Z RMS = 0.69
Q
s Zxy RMS =0.91
3 Zyx RMS =0.53

0.50 e Measured —— Predicted Re Im
0.00-
-0.50 ‘ ‘ : '

-4.00 -3.00 -2.00 -1.00

LOG10 [Periods (s)]

0.50
0.00- Egzzzzéi
-0.50 ‘ ‘ : '

-4.00 -3.00 -2.00 -1.00

LOG10 [Periods (s)]

Tz RMS Total =1.30
Tzx RMS = 0.37
Tzy RMS =1.81




Site: TVG218_Org

. ZXy
e Measured —— Predicted ZyX
E
£
%
= 2.004
. ]
w0
(]
: )
S
< IR
o
0
S + 4
1.004
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
g 90
8 60
2 30 T s—s—e% * ' i s
f -30-
-60-
-90-
-120-
-150- . * i i
'180 T T T T T
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o — Overall RMS (Z+Tz)= 0.96
§ c - Total ZRMS =0.76
Q
= Zxy RMS =0.63
3 Zyx RMS =0.74

LOG10 [Periods (s)]

Tz RMS Total =2.11
Tzx RMS = 2.28
Tzy RMS =1.92

0.50 e Measured —— Predicted Re Im
X 0.00
-0.50 ‘ ‘ : ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00
'050 T T T T T
-4.00 -3.00 -2.00 -1.00 0.00




Site: TVG219

ZXy
e Measured —— Predicted ZyX
3.00
S
= [)
S 3
K0
$ 2.00-
x
g
<
=
)
O
— 1.00- [
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
o 60 —r__r_‘__l————‘—t—!_'—!*:—;_-_-_;__-
2 30 s ®
£ -30
-604
-90- -
-120- I—‘—l—‘!_l—l—i—_-—‘___M
-150
-180 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
s ° . Overall RMS (Z+Tz)= 0.87
§ Coe Total Z RMS = 0.86
[}
s Zxy RMS =0.93
3 Zyx RMS =0.94

0.50 e Measured —— Predicted Re Im
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
0.004
-0.50 ‘

-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]

Tz RMS Total =0.89
Tzx RMS =1.07
Tzy RMS = 0.66




Site: TVG220 Org

| Zxy
e Measured —— Predicted ZyX
€
: :
<
C
X%
@ 2.00-
04
S
£ [
S . :
O
@)
-
1.00
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
g 604 O R B S e e o
= 30 b
£ -30
-604
-904
-120-
-150- b . =
-180 | | ‘ ‘ |
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=0.82
§ Total Z RMS = 0.87
Q
g Zxy RMS =0.91
3 Zyx RMS =0.85

LOG10 [Periods (s)]

Tz RMS Total = 0.47
Tzx RMS =0.29
Tzy RMS = 0.59

0.50 e Measured —— Predicted Re Im
-0.50 | | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
)
> 0.00- —
= 'K
-0.50 | | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00




Site: TVG223_Org

e Measured —— Predicted
T 3.00-
£
e
C
§ .
04
g 2.00-
<
o
—
O
9 [)
1.00-
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
0] 60 ——a T T % * .M
2 30 = s ® »
£ -30-
-604
-904
-120- —— v " * J_'_‘\'~-I§.__‘
-150- «e**
-180 | | ‘ ‘ |
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)= 1.07
§ . Total Z RMS = 0.94
Q
s Zxy RMS =1.24
3 Zyx RMS =1.04

LOG10 [Periods (s)]

Tz RMS Total =1.27
Tzx RMS =1.73
Tzy RMS =0.48

0.50 e Measured —— Predicted Re Im
X 0.00-
-0.50 | | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00-
-0.50 | | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00




Site: TVG224 Org

. Zxy
e Measured —— Predicted ZyX
€
= 3.00-
£ *333
=~ ¢
X%
(%)
[¢)
04
S
<
= 2.00-
o
—
O
: ™ i
¢
1.00
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150
120
= 90
) 60 .
S  30] ss*® =
()]
g
£ -30-
-604
-904
-120- M
-150- s s @
-180 | | ‘ ‘ ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
s Overall RMS (Z+Tz)= 0.87
§ Total Z RMS = 0.81
Q
= Zxy RMS =1.05
3 Zyx RMS =0.93

LOG10 [Periods (s)]

Tz RMS Total =1.13
Tzx RMS =1.30
Tzy RMS =0.92

0.50 e Measured —— Predicted Re Im
< 0.00-
|_
XEXSZ<BE:
-0.50 | | ‘ | | |
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
0.50
> 0.00- /}—_}%
-0.50 | | ‘ | ‘ |
-4.00 -3.00 -2.00 -1.00 0.00 1.00




Site: TVG225 Org

. Zxy
e Measured —— Predicted ZyX
3.00+
E
= ¢
S ¢ ¢
o XX
@ 2.00- ®é3 °
x *3 3
% ¢
o
—
O]
@)
- 1.00- 3
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60
= 304 s @
£ -30-
-604
-904
-120 M
150 ® g0 0
-180 \ \ \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)]
s Overall RMS (Z+Tz)=0.84
§ Total Z RMS = 0.57
ks
s Zxy RMS =0.63
3 Zyx RMS =0.68

0.50 e Measured —— Predicted Re Im

0.00- f ;

-0.50 ‘ ‘ | | : : ‘
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00

LOG10 [Periods (s)]

0.50

0.004

-0.50 ‘ ‘ | | : : ‘
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00

LOG10 [Periods (s)]

Tz RMS Total =1.29
Tzx RMS =1.69
Tzy RMS =0.70




Site: TVG227_Org

. Zxy
e Measured —— Predicted ZyX
3.00-
E
E — ¢ ¢
=)
4 L
& 2.00-
S
o
<
o
—
O
9
1.00 XXX
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150-
120-
= 90
A 80+ M
= 30. — s
£ -30
-604
-904
-120- L
-150-
-180 | | | | | .
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
= Overall RMS (Z+Tz)=1.24
= | - Total Z RMS = 0.96
s Zxy RMS =0.84
3 Zyx RMS =1.58

0.50 e Measured —— Predicted Re Im
0.00
'050 T T T T T T
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
0.50
0.00
-0.50 ‘ ‘ : ‘ ‘ w
-4.00 -3.00 -2.00 -1.00 0.00 1.00

LOG10 [Periods (s)]

Tz RMS Total =1.84
Tzx RMS =2.45
Tzy RMS = 0.87




Site: TVG228 Org

| Zxy
e Measured —— Predicted ZyX
€
£
e N
=)
2 200-
3 ()
o
o
Q.
<
(@)
—
)
O 1.00-
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60
S 30
£ -30
-604
-904
-120- ‘—‘—l—l—-ﬂ—‘—"’"—-_’_._-_\ri_‘
-150 e
-180 \ \ \ \ \ \ *
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=0.75
§ Total Z RMS = 0.85
5 ° . ... Zxy RMS = 0.47
3 : Zyx RMS =0.75

LOG10 [Periods (s)]

Tz RMS Total =0.39
Tzx RMS = 0.47
Tzy RMS =0.29

0.50 e Measured —— Predicted Re Im
X 0.00-
-0.50 | | ‘ : ‘ !
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
0.50
> 0.00-
-0.50 | | ‘ : ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00 1.00




Site: TVG229 Org

e Measured —— Predicted Zyx

ZXy

€
£ 3.00-
<
=2
K0
[%)]
(O]
Y
%'
< 2.00-
(@)
—
)
O
-l
1.00
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150
120
—~ 90
g 601 % e s oo
2 30 5 & .
£ -30
-60-
-90-
-120 T o—g g o
-150-
-180 \ \ \ \ \ \ bl
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
= Overall RMS (Z+Tz)=0.90
p= Total Z RMS = 0.94
.5 X h
s Zxy RMS =1.18
3 Zyx RMS =0.83

LOG10 [Periods (s)]

Tz RMS Total = 0.57
Tzx RMS =0.31
Tzy RMS =0.74

0.50 e Measured —— Predicted Re Im
X 0.00- %
-0.50 ‘ ‘ | : ‘ !
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
0.50
> 0.00- E;é
-0.50 ‘ ‘ | : ‘ !
-4.00 -3.00 -2.00 -1.00 0.00 1.00




Site: TVG229a_Org

| Zxy
e Measured —— Predicted ZyX
€
€ 2.004
<
=2
K0
[%)]
(O]
na
-
Q.
<
(@)
—
O 1.004
O
-l
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150 -
120-
= 90
8 60 - -
a 30 W—.—M
£ -30
-604
-904
-120-
-150 W
-180 \ \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
g . Overall RMS (Z+Tz)=0.79
= | - Total Z RMS = 0.64
|-
s Zxy RMS =0.91
3 Zyx RMS =0.60

0.50 e Measured —— Predicted Re Im
-0.50 ‘ ‘ ‘ \
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
0.50
0.00- E
'050 T T T T T T
-4.00 -3.00 -2.00 -1.00 0.00 1.00

LOG10 [Periods (s)]

Tz RMS Total =1.41
Tzx RMS =1.11
Tzy RMS =1.65




Site: TVG231 Org

: Zxy
e Measured — Predicted ZyXx
T 3.00-
£ ()
e
@
[%)]
(&)
x
g
< 2.00- k)
o KX L3 )
0, ()
o
-l
L)
1.00
-4.00 -3.00 -2.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60 I_T__:.:___:.:___:.:__:-_—:E-—:-_—I—:-:
= 30/
£ -30-
-604
-90 .
-1204 :-:__I__f__._—ﬂ_——!:—_l_ &
-150-
-180 | ‘ |
-4.00 -3.00 -2.00
LOG10 [Periods (s)]
= Overall RMS (Z+Tz)=0.83
§ Total Z RMS = 0.83
2
s Zxy RMS =0.99
3 Zyx RMS =0.92

Tz RMS Total =0.00
Tzx RMS = 0.00
Tzy RMS =0.00



Site: TVG233_0Org

. ZXy
e Measured —— Predicted ZyX
3.00-
E
= (]
=)
2 2.00-
[¢)
o
o
o
<
=
&5 1.00-
@)
-
(]
()
0.004
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
> 60 __._t—.—-t——l—n——n—l—l—l—i—!—‘—‘—-‘—lTi—‘
2 30 ¥
£ -30
-604
-904
-120 l_‘__‘__‘__,__;__n_—n——n—n——n—t—n—l—'—'—t—l_t_l
-150-
-180 : ‘ ! ‘ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)= 0.64
§ Total Z RMS = 0.69
2
s Zxy RMS =0.96
3 Zyx RMS =0.69

LOG10 [Periods (s)]

Tz RMS Total =0.48
Tzx RMS =0.35
Tzy RMS = 0.58

0.50 e Measured —— Predicted Re Im
X 0.00-
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00- E
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00




Site: TVG234 _Org

. Zxy
e Measured —— Predicted ZyX
E
£
£ ’
@ 2.00-
(%)
i
2 ) $
<
o
—
©)
@)
-
1.00-
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
g 60- —v o S5 5 5 T T T S o+ s 3
= 30/
£ -30-
-604
-904
-120- PE— —— 52 o o+ o 3 5 s o
-150 - .
-180 | | ‘ ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o . Overall RMS (Z+Tz)= 0.59
= ; Total Z RMS = 0.59
s Zxy RMS =0.51
3 Zyx RMS =0.70

Tz RMS Total =0.00
Tzx RMS = 0.00
Tzy RMS =0.00



Site: TVG235_Orgl

. ZXy
e Measured —— Predicted ZyX
E 300/
= ¢
<
S
X%
(%)
[¢)
X 200
o
o
<
o
—
©)
S 100
[)
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60 r_'—l-—-—l—‘—!—!—'—‘—‘_l_'_'_m_._‘_‘__'__‘
= 30/
£ -30
-604
-904
-120 H_’_‘__g_‘——n——'—n—.—‘—‘—l—:—L,_‘__-__!T‘
-150-
-180 | | ‘ ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=0.61
§ Total Z RMS = 0.65
Q
s Zxy RMS =0.50
3 Zyx RMS =0.82

0.50 e Measured —— Predicted Re Im
'050 T T T T T
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00- LL%
-0.50 |

-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]

Tz RMS Total =0.42
Tzx RMS =0.35
Tzy RMS =0.48




Site: TVG236_0Org

| Zxy
e Measured —— Predicted ZyX
= 3.00
= ¢
<
=2
K0
[%)]
(O]
na
o 2.00-
Q.
<
(@)
—
)
O
-l
1.00
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150
120
—~ 90
§) 60 WHW
= 30 .
£ -30
-604
-904
-120-
-150-
-180 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
ol Overall RMS (Z+Tz)= 0.66
= | - Total Z RMS = 0.66 Tz RMS Total =0.00
i Tzx RMS = 0.00
= Zxy RMS =0.69 Tzy RMS =0.00
3 Zyx RMS =0.46




Site: TVG237_0Org

. Zxy
e Measured —— Predicted ZyX
€
£ 2.00-
<
S
o
S
o
<
o
0,
8 )
-
1.00-
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60 - T ¥ ¥ T oo oo 8 8 5 & 5 O 5 S 3
= 30/
£ -30
-604
-904
-120-
¥ % & ¥ v u§ g oo —= 8 5 = & 8 a2
150 * * s
-180 | | ‘ ‘ |
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
[}
o Overall RMS (Z+Tz)= 0.87
§ Total Z RMS = 0.76
Q
s Zxy RMS =0.63
3 Zyx RMS =1.16

LOG10 [Periods (s)]

Tz RMS Total =1.32
Tzx RMS =1.37
Tzy RMS =1.27

0.50 e Measured —— Predicted Re Im
Fey
)

-0.50 | | | ‘ ‘

-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
0.00-
P om g T

tiTteis

-0.50 | | | ‘ ‘
-4.00 -3.00 -2.00 -1.00 0.00




LOG10 [App. Resis. (ohm.m)]

Phase (Deg.)

Site: TVG238_OrgRH

. ZXy
e Measured —— Predicted ZyX
3.00-
[]
2.00
1.00
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
90
60 r_r-—.-—n——l——‘-—‘—‘—‘—‘_‘—“—l-—:—t—t_x_—l—l—I
30
0-
-304
-604
-904
-120- T B T T Tty s 2 4 5 .o
-150
-180 \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
[ ]
= Overall RMS (Z+Tz)=0.83
§ Total Z RMS = 0.66
2
g Zxy RMS =0.57
3 Zyx RMS =0.52

LOG10 [Periods (s)]

Tz RMS Total =1.40
Tzx RMS =0.43
Tzy RMS =1.94

0.50 e Measured —— Predicted Re Im
X 0.00-
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
0.50
> 0.00-
-0.50 ‘ | ‘ : ‘
-4.00 -3.00 -2.00 -1.00 0.00




Site: TVG239 Org

| Zxy
e Measured —— Predicted ZyX
3.00
€
£
3 (]
X%
(%)
[¢)
o
S 2.00-
<
(@)
—
©)
@)
-
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
180
150
120
= 90
) 60
W
2 30 T =
£ -30
-60-
-90-
-120- S S —— P
-150-
-180 T T T T
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=0.76
§ Total Z RMS = 0.79
2
s Zxy RMS =0.91
3 Zyx RMS =0.70

e Measured —— Predicted

Re

Im

LOG10 [Periods (s)]

Tz RMS Total =0.62
Tzx RMS =0.79
Tzy RMS = 0.38

0.50
-0.50 ‘ : ! w
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
0.50
> 0.00-
-0.50 ‘ : ! w
-4.00 -3.00 -2.00 -1.00




Site: TVG240 Org

. ZXy
e Measured —— Predicted ZyX
g 2.00
£
<
S
X%
(%)
[¢)
o
=
o
<
o
—
©)
@)
-
1.00
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60
= 30/ e T+ 5 =
£ -30
-60-
-90-
-120- x
-150- =
-180 T T T T T
-4.00 -3.00 -2.00 -1.00 0.00
LOG10 [Periods (s)]
= Overall RMS (Z+Tz)= 0.53
= Total Z RMS = 0.53 Tz RMS Total =0.00
3 T Tzx RMS = 0.00
s o - - Zxy RMS =0.30 Tzy RMS =0.00
3 Zyx RMS =0.49




LOG10 [App. Resis. (ohm.m)]

Phase (Deg.)

Site: TVG241 Org

e Measured —— Predicted Zyx

ZXy

2.00-
1.00-
0.00
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
180
150
120
90
60- T T ® & ¥ T S . s s o
30
0.
-304
-604
-904
-120- — s T Ty T £ * * o
-150- -
-180 \ \ \ \
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)= 2.50
§ Total Z RMS =2.55
kS
s Zxy RMS =1.40
3 Zyx RMS =1.65

LOG10 [Periods (s)]

Tz RMS Total =1.83
Tzx RMS =2.35
Tzy RMS =1.08

0.50 e Measured —— Predicted Re Im
X 0.00- -
-0.50 ‘ ‘ : '
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
0.50
> 0.00- ﬁ/I
-0.50 ‘ ‘ : '
-4.00 -3.00 -2.00 -1.00




Site: TVG242_Org

e Measured —— Predicted Zyx

ZXy

3.00-

2.00

LOG10 [App. Resis. (ohm.m)]

1.00

180

-4.00

-3.00 -2.00 -1.00
LOG10 [Periods (s)]

150
120
90
60-
30

-30
-60
-90

-120-

-150 -

Phase (Deg.)

-180

Overview Map

-3.00 -2.00 -1.00
LOG10 [Periods (s)]

Overall RMS (Z+Tz)=1.70
Total ZRMS =1.76

Zxy RMS =2.12
Zyx RMS =1.69

0.50

e Measured —— Predicted

Re

Im

0.00

-0.50

0.50

-3.00 -2.00 -1.00
LOG10 [Periods (s)]

0.00

-0.50

-4.00

-3.00 -2.00 -1.00
LOG10 [Periods (s)]

Tz RMS Total =1.19
Tzx RMS =1.41
Tzy RMS =0.92




LOG10 [App. Resis. (ohm.m)]

Phase (Deg.)

Site: TVG243_Org

e Measured —— Predicted Zyx

2.00
1.00
0.00-
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)]
180
150
120+
90
60 - &
30 W
-304
-604
-904
-120- s s s +
-150- < e
-180 ‘ : ‘ ! ‘ T \
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)]
s ) Overall RMS (Z+Tz)=1.23
§ . Total Z RMS = 1.25
2 '
= Zxy RMS =1.17
3 Zyx RMS =1.80

LOG10 [Periods (s)]

Tz RMS Total =1.16
Tzx RMS = 0.86
Tzy RMS =1.39

0.50 e Measured —— Predicted Re Im
X 0.00-
-0.50 | | ‘ : ‘ !
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)]
0.50
-0.50 | | ‘ : ‘ !
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00




Site: TVG244 Org

ZXy
e Measured —— Predicted ZyX 0.50 e Measured —— Predicted Re Im
— 3.00-
2
£ N
o
%)
2 )
g 2.00 % 0.00]
< ‘ :
° » 23
O 1.00- ‘
@)
- t
-0.50 \\ \ \ \ \ \ \
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
0.004 LOG10 [Periods (s)]
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)] 0.50
180
150
120
—~ 904
g 60 i E
2 30 > 0.00-
% 0- o 8 g 8
£ -30
-604
-90 1 E
-120 s s s ® ~
-150 ]
-180 T T T T T T L T -0.50 T T T T T T T
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00 -4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)] LOG10 [Periods (s)]
= Overall RMS (Z+Tz)=0.88
= Total Z RMS =0.77 Tz RMS Total =1.32
3 . Tzx RMS = 1.69
2 Zxy RMS =0.62 Tzy RMS = 0.79
3 Zyx RMS =1.26




Site: TVG245 Org

. ZXy
e Measured —— Predicted ZyX
g
£
<
< [ ¢ ) () L] [) [
& 2.00-
g t [ L] [ K]
—
S [
| I E E
1.00
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
180
150
120
= 90
o) 60 -
2 30 LL-—':——‘LIII 141111
()]
g
£ -30
-60
-90
-120 * -
-150 f;—# /’-/_Jﬁ
-180 T :¥: & * T T
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
al . . Overall RMS (Z+Tz)=1.83
§ °. - s Total Z RMS = 1.83
ks e
s Zxy RMS =2.30
3 Zyx RMS =2.19

Tz RMS Total =0.00
Tzx RMS = 0.00
Tzy RMS =0.00



Site: TVG246_Org

ZXy
e Measured —— Predicted ZyX 0.50 e Measured —— Predicted Re Im
T
E 3.00 § i { {
S T {
K%
3 x 0.00-
X = 0
S
<
= 2.00-
= ®3
QO ®s3
@)
-
-0.50 | | | ‘ ‘ | |
1.00_ -4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)]
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)] 0.50
180
150
120
= 90
) 60
2 30 ss® 2eese > 0.00-
[} ] ]
a 0
£ -30
-604
-904
-120-
150 -_'_‘._.—-—-—-—.—.—.—‘—.—W
-180 T T T T T T ®e bl T -0.50 T T T T T T T
-4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00 -4.00 -3.00 -2.00 -1.00 0.00 1.00 2.00
LOG10 [Periods (s)] LOG10 [Periods (s)]
s o Overall RMS (Z+Tz)=1.44
= : Total Z RMS = 1.09 Tz RMS Total =2.05
i Tzx RMS =1.21
s Zxy RMS =1.26 Tzy RMS = 2.63
3 Zyx RMS =1.08




Site: TVG247_Org

_ ZXy
e Measured —— Predicted Zyx

g 2.00-
S
<
=)
%)
I
: i%i —
o
-
< L)
(@)
—
: LK)
-l
1.00-
-4.00 -3.00 -2.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60
a 30. I—r___t_f_a:——:-:—-a_—_-_—:-:
£ -30
-604
-904
-120- :-z_r_—;-—_ﬂ___:_:-———_.:
-150- ES
-180 ‘ ‘ !
-4.00 -3.00 -2.00
LOG10 [Periods (s)]
= Overall RMS (Z+Tz)= 0.66
§ Total Z RMS = 0.66
2
s Zxy RMS =0.72
3 Zyx RMS =0.82

Tz RMS Total =0.00
Tzx RMS = 0.00
Tzy RMS =0.00



Site: TVG248_ Org

. Zxy
e Measured —— Predicted ZyX
E
£ [) [)
e
S
4 2.00-
(%)
[¢)
o
=
o
<
o
—
S 1.00-
-
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
180
150
120
= 90
8 60 W
~ 30* o ¥ -
()]
2 9
£ -30-
-604
-904
-1204 Trt—!_l_‘—t_‘-_*—'_‘_'ﬁ
-150- . B
-180 | | ‘ ‘
-4.00 -3.00 -2.00 -1.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=0.75
= Total Z RMS = 0.75 Tz RMS Total =0.00
3 . Tzx RMS = 0.00
= Zxy RMS =0.72 Tzy RMS =0.00
3 Zyx RMS =0.89




Site: TVGmO03a

ZXy
e Measured —— Predicted ZyX 0.50 e Measured —— Predicted Re Im
— 2.00-
E
<
=)
%)
(%)
4 > 0.00- +_*_+’+—+—{
o
o
<
= 1.00-
—
)
@)
-
-0.50 : ‘ ‘ ‘ \ i
-2.00 -1.00 0.00 1.00 2.00 3.00
LOG10 [Periods (s)]
-2.00 -1.00 0.00 1.00 2.00 3.00
LOG10 [Periods (s)] 0.50
180
150
120
= 90
o 604 e, v s s ¢ —— /
2 30/ S o8t e s ® gt > 0.00-
()]
) 04 E
©
£ -30
-604
-904
-1204 -—'—‘_‘—.-—.—r'—_x -/
] [ I ]
-150 = *s Sesense
-180 \ \ \ \ \ \ -0.50 \ \ \ \ \ \
-2.00 -1.00 0.00 1.00 2.00 3.00 -2.00 -1.00 0.00 1.00 2.00 3.00
LOG10 [Periods (s)] LOG10 [Periods (s)]
al . . _— Overall RMS (Z+Tz)= 1.64
= e o Total Z RMS = 1.80 Tz RMS Total =0.57
3 L ' Tzx RMS = 0.26
= Zxy RMS =2.43 Tzy RMS =0.76
3 Zyx RMS =1.62




Site: TVGmO07a

| Zxy
e Measured —— Predicted ZyX
E
£
S 2.00- )
%)
[%)]
(O]
ha
%'
< [)
= [ )
O 1.001 ¢ 3
9 [)
5 ]
[]
-2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150
120
= 90
[} 60 £ 3
e oo r—r—-_'_t_-_‘_-_'__‘—rN\IH-uJ
£ -30
-60
-90
-120- w
-150 - S
-180 \ \ \ \
-2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)= 0.59
§ - Total Z RMS = 0.60
.% ‘o
5 : Zxy RMS =0.75
3 Zyx RMS =0.73

LOG10 [Periods (s)]

Tz RMS Total =0.58
Tzx RMS = 0.44
Tzy RMS = 0.69

0.50 e Measured —— Predicted Re Im
-0.50 | | ‘ ‘
-2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
0.50
= Em
-0.50 | | ‘ ‘
-2.00 -1.00 0.00 1.00




Site: TVGmMOS8

ZXy
e Measured —— Predicted ZyX
E
£
S (]
[%2)
2 []
™ 100"
g
<
=
)
O
-
0.00- : : : ‘
-2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
180
150
120
= 90
) 60
2 30 M
£ -30
-604
-904
-120- M
-150
-180 \ \ \ bl :F
-2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
o Overall RMS (Z+Tz)=0.51
= Total Z RMS = 0.58
3 .
s Zxy RMS =0.68
3 Zyx RMS =0.61

0.50 e Measured —— Predicted Re Im
0.00-
-0.50 ‘ ‘ : :
-2.00 -1.00 0.00 1.00
LOG10 [Periods (s)]
0.50
0.004
-0.50 ‘ ‘ : :
-2.00 -1.00 0.00 1.00

LOG10 [Periods (s)]

Tz RMS Total =0.27
Tzx RMS =0.22
Tzy RMS =0.32




